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Trigonometric functions: Sine and Cosine (HW)

Staircase A staircase has an angle of ¢levation of 28°
and covers a total distance of 17 feet. To the nearest
foot, what is the vertical height /t covered by the staircase?

» Highway You are traveling along a stretch of highway
that has a slight grade with an angle of inclination of 5°.
After traveling for 4 miles, what is the vertical vand
horizontal /r change in feet? (1 mi = 5280 ft) Round
your answer (o the nearest foot.

Submarine A sonar operator on a ship detects a
submarine at a distance of 500 meters and an angle
of depression of 40°. How deep is the submarine?

Ski Lift A chair lift on a ski slope has an angle
of elevation of 28° and covers a total distance of
4640 feet. To the nearest foot, what is the vertical
height /i covered by the chair lift?

Heiglit of 2 Buildifig A 450 fooul}ll uilding is m:?/
a shorter bu&l%xg.A\p:nrzon on top of the shortcl::[r/b ilding
finds the angle of elevati er

the roof of the /ta
be 25° ang/the angleo m
uildi

building
base gd’be 35°. How far apart are the 12
tl er building to the

nearest foc&ﬂow tall is the shor
nearest foot?
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Trigonometric functions: Sine and Cosine HW)

Staircasc A staircase has an angle of clevation of 28°
and covers a total distance of 17 feet. To the nearest
foot, what is the vertical height /1 covered by the staircase?

» Higlway You are traveling along a stretch of highway
that has a slight grade with an angle of inclination of 5°.
After traveling for 4 miles, what is the vertical v and
horizontal /1 change in feet? (1 mi = 5280 i) Round

your answer to the nearest foot. Y
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Submarine A sonar operator on a ship detects a
submarine at a distance of 500 meters and an angle
of depression of40°. How deep is the submarine?
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Ski Lift A chair lift on a ski slope has an angle
of elevation of 28° and covers a fotal distance of
4640 feet. To the nearest foot, what is the vertical
height /1 covered by the chair liﬂ"
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Helght ol‘?\Buil 1g A 450 foo l{fb‘ ing is near

a shortcr bu lam,g, A person (;xﬁop the shorter building

finds the 'mkl» of elevatxbn the roof%)f the taller

building to be "5° and \40 gle of dcpreSs:\l its
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